# CS 2734, Fall 2001
# actual start of the main program
# inmplenents the foll ow ng exanpl es from PH:
# g=nh+ A8 PH p. 112
# Al12] = h + A 8] PH p. 113
# g=nh+ Ali] PH p. 114
# assunes:
# variables f through h are in registers $s0 through $s2
# address of Ais in $s3
# variable i is in $s4
.globl main
mai n # main has to be a global |abel
addu $s7, %0, %ra # save the return address in a global register
L e R T TP Start of exanple
addi $s2, $0, 43 # set h to 43 for the exanples
addi $s4, $0, 3 # set i to 3 for the exanples
la $s3, A # $s3 has the starting address of A
# Alocate 100-word array A
data
align 2 # Let’'s make sure that it’'s aligned
A .word 11,12, 13, 14, 15,16, 17, 18,19,20 # Al locate, initialize 10 elts
.space 360 # Being lazy, just allocate space for rest
L e T R PP Conpute g = h + A 8]
t ext
Iw $t0, 32($s3) # Tenporary register $t0 gets A 8]
add $s1, $s2, $t0 # Calculate g = h + A 8]
R e R P Qut put the value, wth nessage
data
.globl nessagel
messagel: .asciiz "\nThe value of g = h + A 8] " # string to print
. text
li $v0, 4 # print_str (systemcall 4)
la $a0, nessagel # takes the address of string as an argunent
syscal |
li $v0, 1 # print_int (systemcall 1)
add $a0, $0, $sl1 # put value g in $a0 for printing
syscal |
R R Conpute A[12] = h + Al 8]
t ext
Iw $t0, 32(%$s3) # Tenporary register $t0 gets A 8]
add $t0, $s2, $t0 # Tenporary register $t0 gets h + Al 8]
sw $t0, 48(%$s3) # Store h + Al 8] back in Al 12]
L e T P Qut put the value, wth nessage
data
.globl nessage2
message2: .asciiz "\nThe value of A[12]: " # string to print
.text
i $v0, 4 # print_str (systemcall 4)
la $a0, nessage2 # takes the address of string as an argunent
syscal |
li $v0, 1 # print_int (systemcall 1)
Iw $a0, 48($s3) # load A[12] into $a0 for printing
syscal |
L R Conpute g = h + Ali]
t ext
add $t1, $s4, $s4 # Conpute offset of Ali] fromstart in bytes
add $t1, $t1, $t1 # as 4*i
# Note: don't have nult or shifts, so use add
add $t1, $t1, $s3  # Now conpute actual address of Ali]: A + 4*i

Iw $t0, O($t1) # Tenporary register $t0 gets Ali]

add $s1, $s2, $t0 # Calculate g = h + Ali]

e Qut put the value, wth nessage
dat a
.globl nmessage3

nessage3: .asciiz "\nThe value of g = h + Ali] is: " # string to print
text
li $v0, 4 # print_str (systemcall 4)
la $a0, nessage3 # takes the address of string as an argunent
syscal |
li $vo, 1 # print_int (systemcall 1)
add $a0, $0, $s1 # put value of g in $a0 for printing
syscal |

R e R LR R TR Usual stuff at the end of the main
addu $ra, $0, $s7 # restore the return address
jr $ra # return to the main program
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